SAVE:5/10/16

JOB NAME: WAVERLY OFFICE BUILDING - PHASE 2

CUSTOMER: SHELCO, LLC

ARCHITECT: RULE JOY TRAMMEL RUBIO ARCHITECTURE

LOCATION: CHARLOTTE, NC
JOB NUMBER: 6958

@

Peachdren

PROTECTIVE COVERS

3255 SOUTH SWEETWATER RD. « LITHIA SPRINGS, GA 30122
PHONE (770) 439-2120 » FAX (770) 439-2122

ERECTION DRAWING GENERAL NOTES:

PRINT: 5/10/16

FABRICATION NOTE;

PPC WILL FIELD MEASURE THE SITE PRIOR TO FABRICATION OF THE SUNSCREEN SYSTEM. FIELD MEASUREMENTS WILL
BE TAKEN AFTER ALL BASE PLATES ARE SET AND ADJACENT/EXTERIOR BUILDING SKIN IS COMPLETE. AS PART OF THE
FIELD MEASUREMENT PROCESS, WE WILL SHOOT THE ELEVATION AT EACH COLUMN LOCATION AND MEASURE THE
LOCATION OF EACH BASE PLATE RELATIVE TO ONE ANOTHER, RELATIVE TO FINISHED FLOOR, AND RELATIVE TO THE SKIN
OF THE BUILDING TO WHICH OUR SYSTEM WILL BE CONNECTED. FIELD MEASUREMENTS ARE TYPICALLY A
REQUIREMENT OF THE SPECIFICATION AND ARE REQUIRED IN ORDER TO INSURE THAT THE SUNSCREEN SYSTEM IS
CONSTRUCTED TO FIT ACTUAL JOB SITE CONDITIONS. DUE TO THE NATURE OF EXTRUDED ALUMINUM SUNSCREEN
DESIGN, THE SYSTEM CANNOT BE "FABRICATED TO APPROVED SHOP DRAWINGS".

FINISH NOTE:

WITHIN THE FINISH SCHEDULE ON SHEET #1, PPC HAS INDICATED THE FINISH AND COLOR THAT WE UNDERSTAND TO BE
THE ARCHITECT'S INTENT. THIS FINISH SCHEDULE IS IN ACCORDANCE WITH OUR PROPOSAL. APPROVAL OF THE SHOP
DRAWINGS WITHOUT COMMENT IN THIS AREA WILL BE INTERPRETED AS APPROVAL OF THE FINISH/COLOR INDICATED.
WHERE APPLICABLE A COLOR CHART IS PROVIDED FOR USE IN SELECTING PAINT COLOR. THE STANDARD COLORS
OFFERED BY PPC ARE MARKED ON THIS CHART. TO AVOID ADDITIONAL COSTS AND/OR SCHEDULE DELAYS, IT IS
IMPORTANT TO SELECT FROM THESE STANDARD COLORS WHEN THE FINISH SCHEDULE INDICATES THAT A STANDARD
COLOR IS WARRANTED. IN CASES WHERE A CUSTOM COLOR OR A MATCH OF A PARTICULAR COLOR IS REQUIRED, PPC
WILL REQUIRE A SAMPLE OF THAT COLOR TO MATCH. IN THESE INSTANCES A "MATCH SAMPLE" WILL BE PROVIDED BY
PPC FOR THE ARCHITECT TO ACCEPT OR REJECT. MATERIALS CANNOT BE ORDERED UNTIL THIS "MATCH SAMPLE" IS
ACCEPTED.

ATTACHMENT NOTE;

IN ACCORDANCE WITH OUR UNDERSTANDING OF THE CONTRACT DOCUMENTS, PPC HAS DETAILED THE CONNECTIONS
TO ADJACENT STRUCTURE TO THE BEST OF OUR ABILITY. ALL CONNECTION DETAILS NEED TO BE REVIEWED BY THE GC,
ARCHITECT AND STRUCTURAL ENGINEER. PLEASE PROVIDED ANY/ALL REQUESTED INFORMATION SO AS TO ASSURE
OUR CANOPY (OR SUNSCREEN) CAN BE SUPPORTED PROPERLY. IF ANY QUESTIONS, PLEASE CONTACT PPC PROJECT
MANAGEMENT.

IF THE "VARY" DIMENSION NOTED ON
DRAWINGS, INCREASES BY 12" OR MORE,
CONTACT PPC IMMEDIATELY FOR
COORDINATION & DIRECTION. MATERIAL

IS ORDERED TO APPROVED SHOP
DRAWINGS PRIOR TO FIELD DIMENSIONING.

G.C. NOTE: PLEASE PROVIDE / VERIFY SPOT
ELEVATIONS INDICATED ON COLUMN SETTING
PLAN FOR PPC MATERIAL ORDERING PURPOSES

DRAWING INDEX REVISION HISTORY
REV. DATE DESCRIPTION DWN
G.1 COVER SHEET 3/19/18 1ST SUBMITTAL JTD
1.00 KEY-PLAN 1 7/18/18 INITIAL FILE & FIELD JTD
1.01-1.08 SUNSCREEN PLAN VIEWS 2 10/30/18 | AS BUILT/A6-3 SUNSCREEN-P1 | RB
2.00-2.05 ELEVATIONS 3 11/28/18 | AS BUILT / A6-2 SUNSCREEN - P31 | TLW
3.00 SUNSCREEN SECTIONS 4 11/30118 | AS BUILT / A6-1 SUNSCREEN - P32 | TLW
4 00-4.07 ENLARGED SUNSCREEN DETAILS 5 12/04/18 | AS BUILT / A6-4 SUNSCREEN - P33 | TLW
6.00-6.01 FASTENER SCHEDULE
MATERIAL SPECIFICATION
LOCATION DESCRIPTION FINISH COLOR
1/8"x8" BAR OUTRIGGER ANODIZED CLEAR, A41
8"x2" BLADE ANODIZED CLEAR, A41
SUNSCREEN A 8"x6" TUBE ANODIZED CLEAR, A41
8"x4" TUBE ANODIZED CLEAR, A41
6"x6" TUBE ANODIZED CLEAR, A41
CUSTOM 1/8" ANGLE ANODIZED CLEAR, A41
" 311018
1D
T~
e

PPC JOB NO.

6958

JAJobS\69BFILE & FIELD695B-FF awg




SAVE:12/4/2018

PRINT: 12/4/2018

SUNSCREENS

_‘
| F.F.=706.75'
|

PROPOSED
OFFICE BUILDING

TYPE SIZE LOCATION QUANTITIES
A SEE PLAN OFFICE BLDG. 6TH FLOOR 4
LEGEND
A2-2-4
SUNSCREEN —// \\:SUB-UNIT
TYPE
FLOOR UNIT
" (LorBPNAGd e o i !_ (05[8P\AG-3 N
| - | ®EE e i
| ( | | ( |
| he B . .
| y |
GENERAL NOTE: | | .
OFFICE BUILDING ROOF HAS |
4 IDENTICAL QUADRANTS. ALL | F————— JL !
SUNSCREEN SHOP DRAWINGS | | i
SHOULD MATCH. | | |
AB-1= AB-2 = AB-3 = AB-4 | | | |
| | i !
| | ! i- .
L 4 Lo =]

[N [ N
) J
A6-1 PHASE-32 AB-2 PHASE-31

/~ 1\ KEY PLAN

w SCALE: 1/32"=1-0"
REF.: A-100 & C-2

O

NORTH

N

Peachles
PROTECTIVE COVERS

@

owa. sy [~
\.

JTD
TLW

INITIAL FILE & FIELD

SUBJECT

11-28-18 | KEY PLAN AS BUILT'S

7/18/18

DATE

REV.:
1
3

RULE JOY TRAMMEL RUBIO ARCHITECTURE

LOCATION:

WAVERLY OFFICE BUILDING - PHASE 2

CUSTOMER:

SHELCO, LLC
CHARLOTTE, NC

ARCHITECT:

PROJECT:

DATE:

CHKD. BY:

DRAWING NO.

1.00

PPC JOB NO.

6958

JAJobS\69BFILE & FIELDI695B-FF awg




SAVE:12/4/2018

PRINT; 12/4/2018

SN

Peachles
PROTECTIVE COVERS

©

owa. sy [(”
\,

SUBJECT

11-30-18 | FIELD DIMENSIONS - A6-1 AS BUILT| TLW

DATE

REV.:
4

/7~ 1\ BUILDING DIMENSION PLAN

w SCALE: 3/32"=1'-0" SUNSCREEN: A6-1
REF.: 1/A1-06, 1/A1-07, 6/A6-05, 6/A6-06 & 6/A6-08

HOLD
110" ]
WL TO €
-}
- S
g = } Q. = =50
o~l2 KS-205 —| role w5
n
N|e! ! =
e
KS-202 — g
!
o h £ ol
(] I
o< s
a’le !
T ole ‘\
> \
1
y % F.V.
N H 10"
= B = |2
géw gge, } WL TO WL SE
222 gZl? \ L
IOl I Tl 1 o
« > 5.3 5/8"-*‘ 6" ®|Z
‘\
i
s \
= ‘1
Mo !
Qc-IF I F.V. F.V. F.V.
ol { 14'-3" 93'-3 3/4" 10"
{ WL TO WL WL TO WL WL TO WL
TYP.
&
KS-203 — . ! wroe | &
e KS-201 | T eTow
oY : 2 . "
aoe HoOLD HOLD ‘ HOLD e B 2-8 174
I 2'-8 3/4" 7'-6 5/8" [2-115/8" =2|O = : ¢ TO WALL
N w N = - Qo 4
WL TO € ! ME >2|0 b e ZZ
[T V=
- .
s o - S |
777777 - . . Eajj KS-201
=gy e gy s e
%
KS-202 KS-202 o KS-202 KS-QOZ e
? o
o dJ<|o
HOLD HOLD HOLD HOLD HOLD Hob - HOLD HOLD HOLD = ;
9-11 1/2" 911 1/2" 911 1/2" 10-0 1/16" 10-0 1/16" 10-0 1/16" 10'-0 3/16" 10'-0 3/16" 10'-0 3/16" ©
€T10¢ ' €T10¢ ' CT10¢ €T10¢ ' ¢ T10¢ ' € 10¢ ¢ T10¢ ' €T10¢ ¢T0¢
HOLD HOLD HOLD HOLD HOLD
2'-8 3/4" 2910 1/2" 30'-0 1/4" 300 1/2" 2'-7 3/4"
WL TO € €10 ¢ ¢T0¢ ¢T0¢ ¢ TO WL

RULE JOY TRAMMEL RUBIO ARCHITECTURE

WAVERLY OFFICE BUILDING - PHASE 2

O
pa
Q| E| w
-
- =
31%9| 9
O
— x
P e
ESELE2LRE
sSENEK[EO
S 3 £ 2
o
3/19/18
DWN. BY:
TD
o
RW
DRAWING NO.
1.01

PPC JOB NO.

6958

JAJobS\69BFILE & FIELD695B-FF awg




SAVE:12/4/2018

PRINT; 12/4/2018

—

7'-15/8"

F6-1-1

45'-5 1/4"

7'-3 3/8"
AB-1-1

4"

-

7'-11 3/8"

9'-7 3/16"

AB-1-2 AB-1-2
4

B

BT-602

N

Peachles
PROTECTIVE COVERS

©

owa. sy [(”
\,

SUBJECT

11-30-18 | FIELD DIMENSIONS - A6-1 AS BUILT| TLW

DATE

REV.:
4

7~ 1\ SUNSCREEN PLAN

(1)
\2.00/

G/

SCALE: 3/32"=1'-0" SUNSCREEN: A6-1
REF.: 1/A1-06, 1/A1-07, 6/A6-05, 6/A6-06 & 6/A6-08

il
I
T 6-15/8" !
zZ <L 5 SS WIDTH |
S g TInE
<):- 0w E;'> 1
. < 5.3 5/8"| || 6"
© \
1 W BT-603 ‘7
- B I
Ol ‘
ols 2 wl
o |<\3.00 1\ | n
1 | BTe0a 111 /]| ! .r—
- - == =
(s2) — T c
I ol BTi-e;oeT 11 5
it SN )= = === 1 11] |} L R
| || —"|HoteT—LELY8 ]l | T2
A 1| i 7 SSWIDTIﬂJ b Y
fL___A.._ _ [l =mms|< . - -
—_— | = % <
4" 7'-4 3/8" 6'-2 5/8" Yo © 37*
AB-1-4 A6-1-5  |[BT-604 I T 2|t |
14'-3 N ;f;* :W:,*;i:i’;w,*;i:f;\_t, T — ; - ,_l:i:f::w;i:f:,*; I =E ©
F6-1-3 S ol A |
wlE=Y © © © ~ ® 512 =~ 15e) ® I ﬁ' E
o | o g 3 3 3 3 1S F3 3 3 | ®
i i i i s oin E i s
m m m m m 2] [~ m I m ml I
| T P——
4 g 4 4 & 4 4 4 & 4 4 >
| B : el £ el - & e Fla S | . S | S
7'-4 3/8" 9'-7 1/2" 9'-7 1/2" 9'-7 1/2" 9'-8 1/16" 9'-8 1/16" 9'-8 1/16" 9'-8 3/16" 9'-8 3/16" 9'-8 3/16" 7-11/2"
A6-1-8 A6-1-9 AB-1-9 AB-1-9 A6-1-10 A6-1-10 A6-1-10 AB-1-11 A6-1-11 AB-1-11 AB-1-12
37'-47/8" 30'-8 1/4" 37'-4"
F6-1-5 F6-1-6 F6-1-7
105'-5 1/8"
0O.A. LENGTH

RULE JOY TRAMMEL RUBIO ARCHITECTURE

WAVERLY OFFICE BUILDING - PHASE 2

O
pa
Q| E|
-
- =
31%9| 9
O
— x
P e
ESELE2LRE
sSENEK[EO
S 3 £ 2
3/19/18
DWN. BY:
TD
CHKD. BY:
RW
DRAWING NO.
1.02

PPC JOB NO.

6958

JAJobS\69BFILE & FIELD695B-FF awg




SAVE:12/4/2018

PRINT; 12/4/2018

/7~ 1\ BUILDING DIMENSION PLAN

W SCALE: 3/32"=1'-0" SUNSCREEN: A6-2

REF.: 1/A1-06, 1/A1-07, 6/A6-05, 6/A6-06 & 6/A6-08

4'-5 3/8" -
OUT TO OUT
F.V.
HOLD
110"
¢ TO WL
=
>2l0 o |2 ! gkl=
i Fele \ |~ Ks-206 S|P
S o N|e!
|
J—l—
T KS-202
- ,
Fo|® ﬁ o
s ax|®
| |
\! 228
\‘ Tl
| [e)]
‘\
%, A
o F.V. | . =
®|= 1-0" \! asle azle %8
4—‘ e = B -
ig@ WLTOWL | gg.‘_’ 8;0\,"'9 ;,)Ei
! i
6" |l[5-35/8" ©
15'-3 5/8" i
\ o Ole
! Jo o
F.V. F.V. F.V. \‘ Q"
10" 93'-17/8" 153 13/16" I ale
WL TO WL WL TO WL WL TO WL ‘F
TYP.
TYP. | 6" A - S KS-202
s | 6" ¢ TO WL \
5 g > w.To € | KS-201
IR L 16" SQ., STEEL COLUMN . | a. ¢
Ry . RE HOLD ! HOLD HOLD aze
s =18, BE =®|o 2-115/8" | 7-7 3/8" 2-8" g
Tles >5|o w b= ¢ 70 ¢l T ¢T0¢ ¢ TO WL
=" = we|F N - ]
> | R =] =
ﬁ 2 © - | 4{
, , , , , , KS-203
i — ‘ :,:i:fw,:i:f ]_‘, il —— il i — ‘ il i — ,’_[ i:j:,wi:j:,:‘mj il
%
* . * KS-203 KS-2026 * KS-202 !
a® KS-203 @ a.
= HOLD HOLD HOLD HOLD HOLD HoLD HOLD HOLD HOLD 2% 2
® 100 1/16" 10-0 1/16" 10'-0 1/16" 10-0 1/8" 10'-0 1/8" 10-0 1/8" 9'-11 13/16" 9-11 13/16" 9-11 13/16"
€T10¢ ' ¢ T10¢ ' € 10¢ CT10¢ € 10¢ ' ¢ T10¢ ¢ T10¢ ' CT10¢ ' €T10¢
HOLD HOLD HOLD HOLD HOLD
26" 30'-0 1/8" 30'-0 3/8" 2911 3/8" 28"
WwL[TO € ¢ 10 ¢ ¢T10¢ ¢€T10C¢ € TO WL
F.\V. F.V. F.V. F.V. F.V.
95'-1 7/8"
OUT TO OUT
F.V.
7'-2 3/8"

SN

Peachles
PROTECTIVE COVERS

©

owa. sy [(”
\,

SUBJECT

11-28-18 [FIELD DIMENSIONS - A6-2 AS BUILT| TLW

DATE

REV.:
3

RULE JOY TRAMMEL RUBIO ARCHITECTURE

WAVERLY OFFICE BUILDING - PHASE 2

O
pa
Q| E| w
-
- =
31%9| 9
O
— x
P e
ESELE2LRE
sSENEK[EO
S 3 £ 2
o
3/19/18
DWN. BY:
TD
o
RW
DRAWING NO.
1.03

PPC JOB NO.

6958

JAJobS\69BFILE & FIELD695B-FF awg




SAVE:12/4/2018

7'-117/8"

7'-15/8"
F6-2-1

BT-615

AB-2-1

AB-2-2

O.A. LENGTH

PRINT; 12/4/2018

\201/

7~ 1\ SUNSCREEN PLAN

w SCALE: 3/32"=1'-0" SUNSCREEN: A6-2
REF.: 1/A1-06, 1/A1-07, 6/A6-05, 6/A6-06 & 6/A6-08

il
16-1 5/8" N O~ Nl &
I'SS WIDTH Sl Sla =
h 0|l r v
i NE nlf o
|
6" |!'[5'-3 5/8"
7‘ BT-603 [
I
“ =3 -
| Ol
I S|
{ v |
H‘q >
! ! HNTESRE | [
———+ F—— = H
i
AlE=EEE 1| 5
. s ; S=——\ ~
74 3/8" 5 © I | }6-1 5/8 © (/)E o — I
OPP. gy 1SS WIDTH[E——4 2 l0
- - — (1) = - 5 < -L.Q i) 1Y) *
- e oy :
——— =S . I 6'-4 3/16" 7'-3 5/8" 4"
=T © =
I Mereto—ry I o™ BT e 15| A6-2-5 AG-2-4
= I - ——————jr———————— - — - g - - — ————————— - — - r=——————— ——— = . ' 14'-3 13/16"
sla | i = g - i g g ot F6-2-3
\ o) BIN=]
hi © I ~= I50) I50) ~ I3} ot~ Ise) Ise) D1O=Tl~
I 55 3 3 5 3 o5z 3 B=="i2=HE
== = = = = (0% | (o = = =
I m ! m m m m 1o m m m
| lr— —
7 4 & 4 4 4 4 & 4 oo
] L I . | - . I - ., Fa | -
6'-8 3/8" 9'-8 1/16" 9'-8 1/16" 9'-8 1/16" 9'-8 1/8" 9'-8 1/8" 9'-8 1/8" 9'-7 13/16" 9'-7 13/16" 9'-7 13/16" 7'-3 5/8"
A6-2-12 [ AB-2-11 A6-2-11 AB-2-11 AB-2-10 AB-2-10 A6-2-10 AB-2-9 A6-2-9 AB-2-9 AB-2-8
36'-10 1/2" 30'-8 3/8" 37'-5"
F6-2-7 F6-2-6 F6-2-5
104'-117/8"
O.A. LENGTH
7-238" \3.00/ N \4.03/ \3.00/

N

Peachles
PROTECTIVE COVERS

©

owa. sy [(”
\,

SUBJECT

11-28-18 | FIELD DIMENSIONS - A6-2 AS BUILT| TLW

DATE

REV.:
2

RULE JOY TRAMMEL RUBIO ARCHITECTURE

WAVERLY OFFICE BUILDING - PHASE 2

O
pa
Q| E|
-
- =
31%9| 9
O
— x
P e
ESELE2LRE
sSENEK[EO
S 3 £ 2
3/19/18
DWN. BY:
TD
CHKD. BY:
RW
DRAWING NO.
1.04

PPC JOB NO.

6958

JAJobS\69BFILE & FIELD695B-FF awg




SAVE:12/4/2018

PRINT; 12/4/2018

HOLD
2'-91/2"

HOLD
29'-8 7/16"

HOLD
29"

/7~ 1\ BUILDING DIMENSION PLAN

wy SCALE: 3/32"=1"-0" SUNSCREEN: A6-3

REF.: 1/A1-06, 1/A1-07, 6/A6-05, 6/A6-06 & 6/A6-08

HOLD
110"
WL TO € .
2
s } oL s 5 o
e i ©o|R -5
! o 3
V]
o
Q. |o
o, Fel
(=) =
4 —|o
os|F
I <l
>
120"
. s |
¢ g I WL TO WL els
o Lo Llo
@ - N
5" B
93¢
ElN
ol 14'-3 5/8" 93'-3 1/4" 1-0"
WL TO WL WL TO WL WL TO WL
— TYP. TYP.
== 6" 6"
WL TO € ¢ TO WL
! -
e HOLD HOLD - |2
e
g 29" 77 E"c\,j '9 ) E
WL TO gmog e ele ~ =
== 4&
=
g Pl —— f;%',:i f— fji,%j,_: il — L il — L i ,rlf:j;i,‘mlf:j;i,: L i ———
a.|® a &|®
aR ac|e
Qa g HOLD HOLD HOLD HOLD HOLD HOLD HOLD = g
9'-11 3/4" 9'-11 3/4" 10'-0" 10'-0" 10'-0" 10'-0" 10'-0" ®
' ¢ T0¢ ¢ TO¢ ¢ TO¢ ' ¢ 1O ¢ ' ¢ T0¢ ¢ 10 ¢ ¢ TO¢ ' ¢ 1O ¢
HOLD HOLD HOLD HOLD HOLD
2'-9" 29'-11 1/4" 30'-0" 30-0" 27"
WL TO ¢ ¢T0C ¢T0C ¢T0C ¢ TO WL

SN

Peachles
PROTECTIVE COVERS

owa. sy [(” i

SUBJECT

DATE

REV.:

RULE JOY TRAMMEL RUBIO ARCHITECTURE

WAVERLY OFFICE BUILDING - PHASE 2

O
pa
Q| E| w
-
- =
31%9| 9
O
— x
P e
ESELE2LRE
sSENEK[EO
S 3 £ 2
3/19/18
DWN. BY:
TD
RW
1.05

PPC JOB NO.

6958

JAJobS\69BFILE & FIELD695B-FF awg

/

\




SAVE:12/4/2018

PRINT; 12/4/2018

45'-5 1/4"

N
/

Peachles
PROTECTIVE COVERS

\

owa. sy [(” i

SUBJECT

DATE

REV.:

7~ 1\ SUNSCREEN PLAN

(1)
\2.02/

w SCALE: 3/32"=1"-0" SUNSCREEN: A6-3
REF.: 1/A1-06, 1/A1-07, 6/A6-05, 6/A6-06 & 6/A6-08

7'-15/8"
F6-3-1
1
. 3 :
ol % s 2
&R mr @
<L ©
R|< R
1 BT-602
» B3
= |
5|
©|<
>
1 T BT-603
T .
=TT
E = g u:-> iy 6'-1 5/8
Held ~|o SSWIDTH
.| Q|
<2" 5
S I 111
1 BT-603
- B
oo
S22
[{e]
=|<\3.00 1
BT-604 | !
oly o B
oo S
=" : .,
I —i (= % 7-4 3/8
1 «©
Y - - ) -2l - - (1)
=] 0 gy &\ -
o ~
4 7-41/8" || 6-338" I|$ e ===
A6-35 7636 |[5T507 T © OEEE (I
144" PP - ! I |
F6-3-3 51 % E % 1 : ®|cb
Y/ w:‘!"b I52) 0 o 0 Bi8—n fre] o 07 0 o ¥|©
——3{=~i= 3 3 3 3 TIE=g1E~ 3 3 3 ro | ol
= = = = = oin=—r{Fin =1 =1 =1 -
m o o o o n—m m [l [l ! o I
| T p———
o g 4 4 4 4 4 4 4 4 4 4,.
| I S S . 4 4 4 4 4 4 A 41«
7'-4 5/8" 9'-7 3/4" 9'-7 3/4" 9'-7 3/4" 9'-8" 9'-8" 9'-8" 9'-8" 9'-8" 9'-8" 6'-8 3/8"
A6-3-9 A6-3-10 A6-3-10 A6-3-10 A6-3-11 A6-3-11 A6-3-11 A6-3-11 A6-3-11 A6-3-11 ‘- A6-3-12
37'-5 7/8" 308" 36'-10 3/8"
F6-3-5 F6-3-6 F6-3-7
105'-0 1/4"
O.A. LENGTH

RULE JOY TRAMMEL RUBIO ARCHITECTURE

WAVERLY OFFICE BUILDING - PHASE 2

O
pa
Q| E|
-
- =
31%9| 9
O
— x
P e
ESELE2LRE
sSENEK[EO
S 3 £ 2
o
3/19/18
DWN. BY:
TD
CHKD. BY:
RW
DRAWING NO.
1.06

PPC JOB NO.

6958

JAJobS\69BFILE & FIELD695B-FF awg




SAVE:12/4/2018

PRINT; 12/4/2018

SN

Peachles
PROTECTIVE COVERS

¢ TO WL

©

¢T0€

/7~ 1\ BUILDING DIMENSION PLAN

w SCALE: 3/32"=1'-0" SUNSCREEN: A6-4
REF.: 1/A1-06, 1/A1-07, 6/A6-05, 6/A6-06 & 6/A6-08

HOLD
1'-10"
y ¢ TO WL
3 g N
>5|9 N | 45
s > ole \ |~ KS-205 Qn~
= o N
| L
\ } KS-204
e
!
Fol? ©
= ocz|®
as|e
T
[}
F.V. i [
10" L
=l WL TO WL O 3
2|2 a%le 9:
> 3|0 o-|F ©9°
TR L Tl Tg
S > N
®(S
o=|
[ e)
F.V. F.V. F.V. 2t
10" 93'-2 1/8" 14'-3 1/4" ol
WL TO WL WL TO WL WL TO WL
TYP. ?F\
&
6 | TYP. ; _ KS-203
W10 € & wﬁg-@ —jﬁit
€ TO WL | KS-203
2.8 1/4" . . |2 | a.
- ) o S 33 HOLD | HOLD HOLD a2
¢ STEEL TO WALL =[8 RE =5l 2-11 58" | 7.6 14" g g
T2 iinc—) S ¢ 70 ¢} T eT0¢ ¢ TO WL
—|= <
S i J
77777777777777777777 ‘ N R ‘ T MR J KS-203
——————gg————————gg—————— e —————Hﬂr————%ﬁ—r@————w—————— e
KS-204 KS-204 KS-204 KS-204 o
35/e
HOLD HOLD HOLD HOLD HOLD HOLD HOLD HOLD HOLD 2a 2
100 3/16" 100 3/16" 100 3/16" 911 15/16" 911 15/16" 9-11 15/16" 9-11 9/16" 9-11 9/16" 911 9/16"
€T ¢ €T0¢ ¢€T0¢ ¢ 10 ¢ ' ¢ T10¢ ' ¢ 10 ¢ ¢ 10 ¢ ' ¢ 10 ¢ ' €10 ¢
HOLD HOLD HOLD HOLD HOLD
25 7/8" 30'-0 5/8" 29'-11 7/8" 29'-10 3/4" 2-9"
WL To € ¢ T0 ¢ ¢T0 ¢ ¢T0 ¢ € TO WL

WL TO €

\ J
HE
=
r
=)
o
o0
<
¥
©
<
(2]
4
o)
(2]
zZ
w
=
a
g2
g |
[z T
®
.3
g |
g |o
LLl
o
>
N (@]
L LLl
(</() =
T |5
o X
! <
O
> o
= o
Q )
= 4
2 1
m w
L =
O S| O
TH < =2
WL ol wi
O =
> 2| >| E
EI ol Ol O
ol | 4
Wi =3 w|
>n2LlJ.:—| <
cSETEDET
§§§w§rx§o
" 311018
DWN. BY: TD
CEE—
1.07

PPC JOB NO.

6958

JAJobS\69BFILE & FIELD695B-FF awg




SAVE:12/4/2018

(1)
\2.03/

7~ 1\ SUNSCREEN PLAN

w SCALE: 3/32"=1'-0" SUNSCREEN: A6-4
REF.: 1/A1-06, 1/A1-07, 6/A6-05, 6/A6-06 & 6/A6-08

71 14"
F6-4-1
= n
2 o : ol
@ b sl
e NE:
= ¢
B BT-614 [
S -
Ol
=|¥
N
[*]
BT-603
I = o| ©|E
3 «© ©
6-15/8" 219 3952
SS WIDTH NE b|do 4
> b| b|<
< < o
Eere0
S -
oo
| Y
(PP ik
\3.05/ "
j | T-613 [
E e : f 1
I BT.606 P E (Y312
AN === =
7.9 1/2" e | |-8:158 oioHIE=—==]| |
OPP. ol U SS WIDTH|[ S —12 @
- N > < = "
/@ e i
———= & |3 6'-2 5/8" 7-4 5/8" 4
I [JBTe10—=L ol =TET3| | A6-4-5 A6-4-4
%o I l - 14'-3 1/4"
1
sz - IE Bl =
hi o I ~= I50) I50) ~ w=—0 a I50) ~ I3} I50) Jio=H|~
® | 57 3 3 3 e=ri= 3 3 3 3 ~<=HIs
= il s o F—1}® i s s o i
I 0 m m m mn— (9] m m m m m
N — — — p—
i~z A . . - - . . . - o
S | I S | S 4 | 4 4 4" - .| -
71172 98 3/16" 9-8 3/16" 9-8 3/16" 97 15/16" 97 15/16" 97 15/16" 97 9/16" 97 9/16" 97 9/16" 74 5/8"
A6-4-12 [ AB-4-11 AG-4-11 AB-4-11 AB-4-10 AB-4-10 AB-4-10 AB-4-9 AB-4-9 AG-4-9 AB-4-8
374 1/8" 30-7 7/8" 375 3/8"
F6-4-7 F6-4-6 F6-4-5
105'-5 3/8"
O.A. LENGTH

N

Peachles
PROTECTIVE COVERS

S

DWG. BY

SUBJECT

12-04-18 | FIELD DIMENSIONS - A6-4 AS BUILT| TLW

DATE

5

REV.:

WAVERLY OFFICE BUILDING - PHASE 2

RULE JOY TRAMMEL RUBIO ARCHITECTURE

O
pa
Q| E|
-
- =
31%9| 9
O
— x
P e
ESELE2LRE
sSENEK[EO
S 3 £ 2
3/19/18
DWN. BY:
TD
CHKD. BY:
RW
DRAWING NO.
1.08

PPC JOB NO.

6958

PRINT; 12/4/2018

JAJobS\69BFILE & FIELD695B-FF awg




Nwmm_>OO JAILD3IL0Hd ) ON .m_._.._.O|_N_<__‘w__w9

gé@s& FNLOFLIHOWY Ol8NY TINWVAL AOF FTNY | = ol 8
OTT°00T3HS |5 5| 2 RN o%

L ) T TR M e ¢ 3SVHd - ONIQTING 301440 ATIIAVM | |

®|m_..__.mmm..e|--|---|--|--|--|-
SHEET 2.00

1'-0" SUNSCREEN: A6-1

SCALE: 3/32"
REF.: 1/A5-01

6"X6" TUBE

\

8"X6" TUBE

/7~ 1\ ELEVATION
\2.00/

X

Q |z [a]

08 B ( 4k
e - i i e i i
Friell8) tnfe) Wi Wy Wi Wy Lo
<S5 wse w>o% w>5 w>< w>% W=~
“L5s <oen <5ag
—we o5 L oM™ = oM™ oM™ SE"IW
g weilt| [ T o o= -l- PNy g | 0= |- = A e |
. =wo ©o=uw rege mil] < LW W — [S5= =TT
oL |7 =& ) O hg®) g’ (3]
<0 5 o © 4 2 4 4
z P % < < < < <

BT0CIPICT 3AVS BI0CIT INd

JAJobS\69BFILE & FIELD695B-FF awg



®|m_..=.mmn..8|--|---|--|--|--|-
SHEET 2.00

( ) ‘
SY3IAO0D IAILOT10Hd ON m._-._.ol_ﬂ_d‘,__w__waJ
R 4@@5 3YNLO3LIHOYY OIgNd TINAVAEL AOF 31Ny | o | e
oauHowy | X O
h 2lelz| 2| @
O711 O013HS | 5| 5| 2| | ©
alr Q1314 % 314 WILINI | 81/8L/Z e N
: - ¢ ASVYHd - ONIATING 301440 ATIIAVM & [£ ¢ | |3
f \ Ag'Ooma 1o3rans dlva |- oaroud | |1 |5 |8 |
[a] [a]
o ] x z & & T
W_Wr- IRL \JW| \../m- \../m- ).m- \Jm- \./m-
<W3E LEdo >80 >3~ >o > LS -
= 2 0Z 2~ | = oo 0| : = 0| = N[ Lol
TE=95 L=~ <oo©|w <o <LOo|W <LoN|W <oolY
=0~ = ON> = N> N~I> N> N~> N>
-~ 2 > X o o o o = W
= | 2w ~ = _ju = _ju =_ju =iy QE_io
—Ews akm LI W QW STl oTW
oL o =TI S4T) NTY =0 NTY ~0
mwm o m 4 4 4 (4 4
< F < < < < < <
N
w
) w
o) M
[ =}
2 -
«©
RS ;
«©
<
z
i
W
o
O
1%}
z
=)
W o
o Q@
C Bl =
M =ln
x ] )
& <<
>
EL.”
_// LAF
ow
Wlonx
-o
3

BT0CIPICT 3AVS

JAJobS\69BFILE & FIELD695B-FF awg



7
SHY3IA0D 3AILO310Hd

Rirag

\ Ag'oma

ON "FLLOTHVHO

NOILYOO1

FHNLOTLIHOYY Ol1gaNd TaNNVEL AOr 371Nd

-LO3LIHOYY

alLr

an3id ® 3714 TVILINI

8L/8L/L

3/19/18
JTD
RW

011 °'00T13HS

“¥3IWOLSNO

1o03rans

3iva

“A3Y

DRAWING NO.

¢ dSVHd - ONIA1ING 301440 ATIIAVM

:103royd

DATE
DWN. BY:

2.02
6958

PPC JOB NO.

G|m_..__.mmm..8|--|---|--|--|--|-
SHEET 2.02

1'-0" SUNSCREEN: A6-3

SCALE: 3/32"
REF.: 1/A5-02

/7~ 1\ ELEVATION
\2.02/

6"X6" TUBE

X

8"X6" TUBE

[a]
w (W
s
AWG.S
=85
~ON|
haf = 1
. =Wwo
oL
00 |
~r¢ O

< |F

(69' 9" A.F.F.
ARCHITECT VERIFIED

EL. 776.50'
LEVEL 6

&

(56' 0" A.F.F.)
EL. 763.65'
LEVEL 5

ARCHITECT VERIFY

&

(42' 3" AF.F.)
ARCHITECT VERIFY

EL. 749.90'
LEVEL 4

&

> > >

L L AM L
Ll L We w Win
W= w>S Tl
<5 8m <Hm <H8W
ol N[> Sw~=> =~

= .o = opF |l
o=l t+Ela TE_ i3
XIm IIm oxTm
~0 0 [S]

14 14 4

< < <

s
<
S

BT0CIPICT 3AVS

BI0CIT INd

JAJobS\69BFILE & FIELD695B-FF awg



Nwmm_>OO JAILD3IL0Hd ) ON .m_._.._.O|_N_<__‘w__w9

gé@s& FNLOFLIHOWY Ol8NY TINWVAL AOF FTNY | = ol 8
OTT°00T3HS |5 5| 2 RN o%

L ) T TR M e ¢ 3SVHd - ONIQTING 301440 ATIIAVM | |

&

%

& &

o |z [a]

G- @ m n x x x <z
TR o = = = = =
L. - —~ —~ —~ _ —~ ~_
L 20 Lo u Wio Lo uWio uwwo pWio| _
532 w>89 w>9 L=~ = LS >N
- 20z >~ ©| =] pf Syo Y| O] =N WLl
= L=~ | <ol SYTNAM <G oW <ON|IW <o
I ) h al S (S (&) (] (&)
o~ = ON> = N> N~I> N> N~> P
-~ 2 > X o o o o =W
w W = _jw = Ll = _ju o
ha=r TR SEml= o= =43 e e g =
oom o /\muv S4T) NTY T NTY (%)
22 & S & & & & x
< F < < < < < <

N

1'-0" SUNSCREEN: A6-4

|
|
y
_\_
|
|
|
|
|
|
|
|
|
|
|

/ 8"X4" TUBE

SCALE: 3/32"
REF.: 1/A5-02

7~ 1\ ELEVATION
\2.03/

\

6"X6" TUBE
8"X6" TUBE

G|m_..=.mmn..ou.|--|---|--|--|--|-
SHEET 2.02

BT0CIPICT 3AVS BI0CIT INd

JAJobS\69BFILE & FIELD695B-FF awg



SAVE:12/4/2018

PRINT; 12/4/2018

SN

(88' 11 1/4" AF.F.)
ARCHITECT VERIFIED
EL. 795.69'

TOP OF SUNSCREEN /

8"X4" TUBE 8"X4" TUBE i i

/ - — / w w
| |

I I T L I

B

4@

4@

®

@

4@
Peachires

PROTECTIVE COVERS

N 6"X6" TUBE HH N 6"X6" TUBE

owa. sy [(”

JTD

X 8")(\6"\ TUBE \\

8"X6" TUBE

p;*gggig#ﬂ=ﬂ~k“44
; Tl\

(69'9" A.F.F.
ARCHITECT VERIFIED
EL. 776.50'
LEVEL 6

(56' 0" A.F.F.)
ARCHITECT VERIFY

INITIAL FILE & FIELD

SUBJECT

EL. 763.65

LEVEL 5

7/18/18

DATE

REV.:
1

(42' 3" AF.F)
ARCHITECT VERIFY
EL. 749.90'
LEVEL 4

(28' 6" A.F.F.)
ARCHITECT VERIFY
EL. 736.15'
LEVEL 3

(14' 9" AF.F.)
ARCHITECT VERIFY
EL. 722.40'

LEVEL 2

RULE JOY TRAMMEL RUBIO ARCHITECTURE

LOCATION:

WAVERLY OFFICE BUILDING - PHASE 2

CUSTOMER:

SHELCO, LLC

ARCHITECT:

o | PROJECT:

/N

CHARLOTTE, NC

5
m

3/19/18

(0-0" A.F.F.)
ARCHITECT VERIFY

o
H
H
o

EL. 706.75' o
LEVEL 1 RW

(~ 1\ ELEVATION (2 ELEVATION T oa

PPC JOB NO.

Q__Oy SCALE: 3/32"=1'-0" SUNSCREEN: A6-4 Q_Oy SCALE: 3/32"=1'-0" SUNSCREEN: A6-1
REF.: 1/A5-03 6958

REF.: 1/A5-03

JAJobS\69BFILE & FIELD695B-FF awg



SAVE:12/4/2018

PRINT; 12/4/2018

ARCHITECT VERIFIED

(88'11 1/4" A.F.F.

EL. 795.69'

/ 8"X4" TUBE

TOP OF SUNSCREEN A

ARCHITECT VERIFIED

SN

/ 8"X4" TUBE

(69' 9" AF.F.
EL. 776.50'

&

LEVEL 6

(56' 0" A.F.F

F.F)
ARCHITECT VERIFY
EL. 763.65

LEVEL 5

(42' 3" AF.F)
ARCHITECT VERIFY
EL. 749.90'

LEVEL 4

(28' 6" A.F.F.)
ARCHITECT VERIFY
EL. 736.15

LEVEL 3

(14' 9" AF.F.)
ARCHITECT VERIFY
EL. 722.40'

LEVEL 2

AN

(00" AF.F.)
ARCHITECT VERIFY

EL. 706.75'

"

\

™ 6'x6" TUBE

\

|-

8"X6" TUBE

- 66" TUBE

Peachles
PROTECTIVE COVERS

©

owa. sy [(”

JTD

8"X6" TUBE

INITIAL FILE & FIELD

SUBJECT

7/18/18

DATE

REV.:
1

o | PROJECT:

RULE JOY TRAMMEL RUBIO ARCHITECTURE

LOCATION:

WAVERLY OFFICE BUILDING - PHASE 2

CUSTOMER:

SHELCO, LLC
CHARLOTTE, NC

ARCHITECT:

5
m

3/19/18

o
H
H
o

LEVEL 1

7~ 1\ ELEVATION

Q__Oy SCALE: 3/32"=1'-0" SUNSCREEN: A6-2

REF.: 2/A5-03

/7~ 2\ ELEVATION

CHKD. BY:

RW

Qﬁ)y SCALE: 3/32"=1'-0" SUNSCREEN: A6-3

REF.: 2/A5-03

DRAWING NO.

2.05

PPC JOB NO.

6958

JAJobS\69BFILE & FIELD695B-FF awg




SAVE:12/4/2018

D

PRINT; 12/4/2018

6'-15/8"
SUNSCREEN WIDTH 8"x4" TUBE

(88' 11 1/4" A.F.F.)
ARCHITECT VERIFIED
EL. 795.69'

TOP OF SUNSCREEN

(87" 11 3/4" A.F.F.)
ARCHITECT VERIFY
EL. 794.69'

T/O PRECAST PANEL

6"x6" TUBE

™ g'x6" TUBE

(69'9" AF.F.)
ARCHITECT VERIFIED
EL.776.50'
LEVEL 6

(67" 11 1/4" AF.F.)
ARCHITECT VERIFY
EL.774.69'
BOT. OF TUBE

/7~ 1\ SUNSCREEN SECTION

\(3.00/ SCALE: 1/4"=1-0" SUNSCREEN: A
REF.: 1/A6-03

)

4.01

(87' 11 3/4" A.F.F.)
ARCHITECT VERIFY
EL. 794.69'

VARIES 8'-4 3/4"
SUNSCREEN WIDTH 8"x4" TUBE 8"x4" TUBE SUNSCREEN WIDTH n

| (88' 11 1/4" A.FF.F.) (88' 11 1/4" AF.F.)

| » ARCHITECT VERIFIED ARCHITECT VERIFIED | |

| EL. 795.69' EL. 795.69' | |

|¢ TOP OF SUNSCREEN TOP OF SUNSCREEN [ Z 27 22 2211 2I I

|

|

(87'113/4"A.F.F.)

ARCHITECT VERIFY |

T/O PRECAST PANEL

6"x6" TUBE

™ &'x6" TUBE

(69'9"AF.F.)
ARCHITECT VERIFIED
EL. 776.50'

g} Qb EL. 794.69'
T/O PRECAST PANEL

I
I
I
A=

6"x6" TUBE

16'-0"

8'x6" TUBE — |

(69'9" AF.F.)
ARCHITECT VERIFIED
EL. 776.50'

LEVEL 6

(67" 11 1/4" A.F.F.)
ARCHITECT VERIFY
EL. 774.69'

LEVEL 6

(67" 11 1/4"AF.F.)
ARCHITECT VERIFY
EL.774.69'

17

BOT. OF TUBE

/7~ 2\ SUNSCREEN SECTION

SCALE: 1/4"=1-0" SUNSCREEN: A
REF.: 1/A6-03 (SIM.)

BOT. OF TUBE

AN

/7~ 3\ SUNSCREEN SECTION

\(3.00/ SCALE: 1/4"=1"0" SUNSCREEN: A
REF.: 1/A6-03 (SIM.)

SN

Peachdes

©

PROTECTIVE COVERS

\_ y,
a|n
S
a
m
w
o3
4
[T
-
5|2
=
2| Z
®
ME
gR
w
o
)
~ |6
w w
(</() =
T |5
o X
(ID <
> ®}
= m
a =)
= x
- -
m w
Ll =
©) S| O
T <l Z
ol | 5
Oj|—|_
> = > E
E‘OOO
o| 2|
W = | x
>nc|-un——|<
sSETEDET
SSEBEX[FO

DATE

CHKD. BY:

DRAWING NO.

3.00

PPC JOB NO.

6958

JAJobS\69BFILE & FIELD695B-FF awg




SAVE:12/4/2018

PRINT; 12/4/2018

(88' 11 1/4" A.F.F.)
ARCHITECT VERIFY
EL. 795.63'

TOP OF SUNSCREEN

(87" 11 1/4" A.F.F.)
ARCHITECT VERIFY
EL. 795.58'

T/O PRECAST PANEL

COLUMN LOCATIONS

6'-15/8"

SUNSCREEN WIDTH

FC2.5-IBP5

10"

F.75-B14HW (2) REQD
10" 10"/ 10" 10" 4"
ACCESS HOLE; CAP
4.00, AFTER INSTALLATION \\
e 4
N L o () () i1

N

Peachles
PROTECTIVE COVERS

/

\

owa. sy [(” i

WELDED CONNECTION

G.C. TO GRIND CREST FLAT
10" x 16" @ TYPICAL

: A
| /
\\ 8"x2" BLADE
I

8"x4" TUB

Tt

A : WELDED [TO 8"x4" TUBE

W/ NEO

PRENE BEARING PAD

< (1/4" x 8" x 12")

\ 1/8"x8" OUTRIGGER

IN— 1/4"x8"x12" ALUM. PLATE

4) FC1.5-NS3

4"X4" TUBE WELDED
BETWEEN 6"X6" TUBES

\ 8"x4" TUBE —

SUBJECT

F1.5-T10FH

|

| EC —/ |
| \

(4) FC1.5-NS3 {1 |

4"X4" TUBE WELDED

|
| 1
BETWEEN 6"X6" TUBES } }
{ |

i
|

[

[

[

[

\

I

I 6"x6" TUBE
|

7~ 2\ SUNSCREEN

SECTION

w SCALE: 1 1/2"=1"-0" SUNSCREEN: A
REF.: NONE

125 1/8". . | s 112"
OUTRIGGER LENGTH
< [ eeceas /
b s 4 & 41/2" EMBED
<
PRECAST CONCRETE PANEL 66" TUBE
<
4 .
/1 SUNSCREEN DETAIL
\4.00/ SCALE: 1 1/2'=1-0" SUNSCREEN: A
REF.: 2/A7-11
8"x4" TUBE
A 1/8"x8" OUTRIGGER
- 4 ACCESS HOLE; CAP
1-0" AFTER INSTALLATION / 8"x2" BLADE

DATE

REV.:

RULE JOY TRAMMEL RUBIO ARCHITECTURE

LOCATION:

WAVERLY OFFICE BUILDING - PHASE 2

CUSTOMER:

SHELCO, LLC
CHARLOTTE, NC

ARCHITECT:

PROJECT:

DATE

CHKD. BY:

DRAWING NO.

4.00

PPC JOB NO.

6958

JAJobS\69BFILE & FIELD695B-FF awg




SAVE:12/4/2018

PRINT; 12/4/2018

1270 1b

PRECAST CONCRETE PANEL

61/2"

i

lgz) FCB-EA3 |
3 1/2" EMBED }
|

TO 8"X6" T

/7~ 1\ SUNSCREEN DETAIL

8"

8"x6" TUBE /

1/4"x6"x9 1/2" ALUM. PLATE
WELDED TO 6"x6" TUBE

x I (2) FC20-TBS
FIELD DRILL

L

SCALE: 1 1/2"=1'-0"SUNSCREEN: A

REF.: 2/A7-11

6"x6" TUBE

4.01

(2) FC6-EA3

412" | o S/

[\/ .

/7~ 2\ SUNSCREEN DETAIL

ot/

SCALE: 1 1/2"=1'-0"SUNSCREEN: A

REF.: 1/A6-03

8"x6" TUBE

|

e

/7~ 3\ SUNSCREEN SECTION

NG

SCALE: 1 1/2"=1'-0"SUNSCREEN: A

REF.: NONE

6"x6" TUBE

2) FC20-TB5
FIELD DRILL

3 1/2" EMBED

1/4"x6"x9 1/2" ALUM. PLATE
WELDED TO 6"x6" TUBE
(SHIM AS REQ'D)

\ 8"x6" TUBE

6"x6" TUBE WELDED
TO 8"X6" TUBE

\ PRECAST CONCRETE PANEL

W/ INTEGRATED BRICK

SN

Peachles
PROTECTIVE COVERS

\

owa. sy [(” i

SUBJECT

DATE

REV.:

RULE JOY TRAMMEL RUBIO ARCHITECTURE

WAVERLY OFFICE BUILDING - PHASE 2

O
pa
Q| E| w
-
- =
31%9| 9
O
— x
P e
ESELE2LRE
sSENEK[EO
S 3 £ 2
3/19/18
DWN. BY:
TD
RW
DRAWING NO.
4.01

PPC JOB NO.

6958

JAJobS\69BFILE & FIELD695B-FF awg




SAVE:12/4/2018

(88' 11 1/4" A.F.F.)
ARCHITECT VERIFY
EL. 795.63'

VARIES

SUNSCREEN WIDTH

10"

F.75-B14HW
10" / 10"

FC2.5-IBP5
(2) REQD

10"

4"

ACCESS HOLE; CAP
AFTER INSTALLATION

TOP OF SUNSCREEN

(87' 11 1/4" A.F.F.)
ARCHITECT VERIFY
EL. 795.58'

110"

EC

SN

Peachles
PROTECTIVE COVERS

/

\

owa. sy [(” i

WELDED CONNECTION /

T/O PRECAST PANEL

PRINT; 12/4/2018

>

_/
o/

8"x4" TUBE

IN— 1/4"x8"x12" ALUM. PLATE

4) FC1.5-NS3

\ 8"x4" TUBE —

SUBJECT

120"

A WELDED TO 8"x4" TUBE 4X4" TUBE WELDED
W/ NEOPRENE BEARING PAD BETWEEN 6"X6" TUBES
| (4 xerx12n
VARIES | ] aa 112"
' OUTRIGGER LENGTH
< ~ |H2)FCO-EAS /
G.C. TO GRIND CREST FLAT S i 4 1/2" EMBED
10" x 16" @ TYPICAL
COLUMN LOCATIONS o
PRECAST CONCRETE PANEL 66" TUBE
<7
A o
/~ 1\ SUNSCREEN DETAIL
\4.02/ SCALE; T 1/2'=1-0"SUNSCREEN: A
REF.. 2/A7-11 (SIM.)
A 4

DATE

REV.:

RULE JOY TRAMMEL RUBIO ARCHITECTURE

LOCATION:

WAVERLY OFFICE BUILDING - PHASE 2

CUSTOMER:

SHELCO, LLC
CHARLOTTE, NC

ARCHITECT:

PROJECT:

DATE

CHKD. BY:

RW

DRAWING NO.

4.02

PPC JOB NO.

6958

JAJobS\69BFILE & FIELD695B-FF awg




SAVE:12/4/2018

PRINT; 12/4/2018

(88' 11 1/4" A.F.F.)
ARCHITECT VERIFY
EL. 795.63'

TOP OF SUNSCREEN

(87" 11 1/4" A.F.F.)
ARCHITECT VERIFY
EL. 795.58'

T/O PRECAST PANEL

6'-15/8"

SUNSCREEN WIDTH

FC2.5-IBP5

10"

SN

Peachles
PROTECTIVE COVERS

\

owa. sy [(” i

WELDED CONNECTION

G.C. TO GRIND CREST FLAT
1-0"x 1'-6" @ TYPICAL
COLUMN LOCATIONS

SUBJECT

(2) REQD
10" 10" 10" 10" "
ACCESS HOLE; CAP
AFTER INSTALLATION ‘\
EC —— ) ° ° i
IBP —=
I EN—— Sy Ny
| | /
‘ ‘ o gt _/
| \\ 8"x2" BLADE 1/8"x8" OUTRIGGER F.75-B14HW 8"x4" TUBE
8"x4" TUBE
© I~ 1/4"x8"x12" ALUM. PLATE
A WELDED [TO 8"x4" TUBE
W/ NEOPRENE BEARING PAD
. | (14" x 8" x 12"
1548" 44 1/2"
OUTRIGGER LENGTH
< I~ | (2) FC6-EA5
b A & 4 1/2" EMBED
<
PRECAST CONCRETE PANEL
<7
A 6"
/7~ 1\ SUNSCREEN SECTION
\4.03/ SCALE: 11/2/=1-0" SUNSCREEN: A
REF.: 2/A7-11 (SIM.)
A 4
0"

DATE

REV.:

WAVERLY OFFICE BUILDING - PHASE 2

CUSTOMER:

PROJECT:

RULE JOY TRAMMEL RUBIO ARCHITECTURE

LOCATION:

SHELCO, LLC

ARCHITECT:

CHARLOTTE, NC

DATE

CHKD. BY:

DRAWING NO.

4.03

PPC JOB NO.

6958

JAJobS\69BFILE & FIELD695B-FF awg




SAVE:12/4/2018

PRINT; 12/4/2018

s |
|
]
1/4"x3"x3" ANGLE — < |
@ 8" LONG . }
A A
A I
=
|
/ | (
| \ |
PRECAST CONCRETE PANEL —| } 4‘ -
BELOW ‘ ‘ }
7777777 | .
mininininini | | ipliai=ighahabaheelbibeibs sl i il i ias el b b B A AL E A i |
"I B YA 1 |
I | e \404) _______ _ _ ___ e
7777777 | |
( | |
| | 1
+ 4\ 4+
| ‘ 1/8"x8" OUTRIGGER |
7777777 | e e @@ @ _ < G |
I | 1
E1.5T10PH | } } }
| | 1
| ————
,,,,,,, | |
F.75-B14HW| | i \_ }
¢ 8"x2" BLADE +
| \ |
7777777 ( | - (
—_— | [ R RRRERERRRERDRDIERRERESSSSSSSESSSSSSSSSSSSSSSSSSSSSSSSSSESDSDS—S=SSS—SSSS—SSSSSSSSSS—SS——=————S |
| | 1
| \ |
| \ |
A - —— e ———————_—_—_ g
7777777 | I B — |
| \ |
H‘- 4‘ H‘-
7777777 | | N |
ACCESS HOLE; CAP - ]
AFTER INSTALLATION | \ |
| \ |
I N | R
FC25BP5 1 | N | | |
(2) REQD ‘\\ ; |
IBP — } } 8"x4" TUBE |
\ \ |
777777777777777777777777777777777777777777777777777777 _ q‘
\: 4

EC—\

| FC2.5-1BP5 g
F(2) REQD ACCESS HOLE; CAP .
AFTER INSTALLATION

ACCESS HOLE; CAP |
AFTER INSTALLATION \

1/4"x3"x3" ANGLE
@ 8"LONG

STEEL COLUMN \

71/2"

(4) F1.5-HBS l

P "
‘ ‘<7 7777777777777777777 = 4('77767777 77777777777 E—
] IBP L (2) FCB-TB5
S 433" ANGLE
@ 12" LONG

4.04

8'-4 3/4"

F.75-B14HW

/7~ 2\ SUNSCREEN SECTION

INSTALLER NOTE:
ISOLATION MATERIAL REQUIRED BETWEEN

STEEL & ALUMINUM MATERIALS, USE 4" GRACE
VYCOR PLUS ISOLATION TAPE

8"x4" TUBE

1/8"x8" OUTRIGGER

/> 8"x2" BLADE

F1.5-T10FH

QoS

8"x2" BLADE

1/8"x8" OUTRIGGER

8"x4" TUBE

:11/2"=1"-0"SUNSCREEN: A
ONE

F.75-B14HW

7/~ 3\ SUNSCREEN SECTION

S ELSTI0FH

Y

1/2"=1'-0" SUNSCREEN: A
NONE

1/8"x8" OUTRIGGER

8"x2" BLADE
[

F1.5-T10FH

ACCESS HOLE; CAP
AFTER INSTALLATION

1\ SUNSCREEN DETAIL
w SCALE: 1"=1'-0" SUNSCREEN: A
REF.: NONE

/~ 4\ SUNSCREEN SECTION

)

SCALE: 1 1/2"=1'-0"SUNSCREEN: A
REF.: NONE

N

Peachles
PROTECTIVE COVERS

/

\

owa. sy [(” i

SUBJECT

DATE

REV.:

RULE JOY TRAMMEL RUBIO ARCHITECTURE

WAVERLY OFFICE BUILDING - PHASE 2

O
pa
Q| E|
-
- =
31%9| 9
O
— x
P e
ESELE2LRE
sSENEK[EO
S 3 £ 2
o
3/19/18
DWN. BY:
TD
o
RW
DRAWING NO.
4.04

PPC JOB NO.

6958

JAJobS\69BFILE & FIELD695B-FF awg




CUSTOM 1/8" ALUM. ANGLE
WELDED TO 1/8"x8" OUTRIGGER

F.75-B14HW
(3) PER ANGLE

( A ¢
SY3IA0D IAILOTL0OHd ON MPFO|_~“_<,_W__WOJ
00 S FHNLOFLIHOHY OlgNd TANNVEHL AOr 31NY | | 9
10atHowY | = S| W
G 2 m = (o)}
OT1 O013HS | 5| 5| 2| | ©
HINOLSND m g
. - ¢ ASVHd - ONIAINEG 301440 ATIIAVM [ |z | | |:
f \ Ag'Ooma 1o3rans Jiva | A3y oaroua |8 |B |B |8 |
-
[iN)
=z
<
o
=
04
. : 4
i 9 10!
P4 =
3 ] 4 w
we o 5 a
G_Dln = o <<
az zH 2] - @
<0 Z <= Ee) =
OE .O OO0 2 2
Lo S 5% w - e x
s 23 @ @ 2
e om - c
b o5 o\ \ /
= v —
n ©
mm =P Wm v ~ I | T ,
Cﬁ Ww MM o - ||l I W I
oW oW e Zla | I ,
<L Ha Bla D [e} | I | ,
< 24U Nl g i ‘g || I ] ,
o uje ofx v M I ,
o g || I W ,
S v | ,
o\ \ | .
o --N__ 7 7 - - - - - - - = === == === = === i [
g L] \ N\ V ,
,
—/ \p‘ e ““““““““‘q “““““““““““ — 7
S | I [
: L , ! | ,
| 4 : | , ! | , | ,
B \ 1 | | | | | |
) | , | [ |
wla v : | I 4 | | | (. |
als , , N || (. = o | (. |
&S] , , v ||l I i | i P ||l I |
A ez | . 1 = I 11 L
S | I : , I | z I
2 32 | < | || o L I} | jaCl | W |
i < | [ < . | : I e , | I , | | O _m [ TS o o | |
o - | , v , I I I b3l &g @ | ,
o< , , | I | || R ]
Iy I , , R : !
n , , | I I I | o1 | o |
3 , [ I I M [ I £ 0| N
»nZ | ] < | [ I | = | Ol I I
We , , ﬁ < . o I L 1 | o= | 2 | |
mE , | - o I L 1 || Bm I | |
RE N < v |l || L) i BN |
N o< | |V - . |l I o o B EEIN |
. | - < o ‘v ||l I [ I | ||l I | ]
: | | v . : | I L Pl | I | |
w | | : < , : I | T I | : I | , <
: v | I , I | I >
| L < A | I WT I | | I ! W &
R . N | I , I | I u
| ! = - <% Ll I L I | I W W ”_mR.u
W W ,: o W: :W ,: I | , MW
| [ I | I
, [ || I | i o || I W W _._D._%
, , ||l I | i | ||l I | |
, , ] I | || | I} , , z
\\\\\\\ | | I I ] | I c
\\\\\\\ ” —_— I | . |l I | W ]
, , || ) il |l I , , el Z
| | (. [ I ||l I | , C‘HO
I e N I P | I | | 2] I
| , -l Pl |l I | 2120
\\\\\\\ | V- | , I I ! D[Sk
| I I I I I [ Q
| I I P Wl I | , (2] 1%)4
N < | i || || I | |
] W W: :W ,: Wﬁ, | , 0
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ I | , ~|2
, , N NN | I ” W <
\\\\\\\ | /¥ L <f g ! || I | |
| | 25 BN | | , !
= <[ 1 | ,
”HHHHHHU', e — — — ———————— e e e e e e e == — = I n_.._w 1 I | I I W W
\\\\\\\ | | ] 1] || I |
, , ] I || I |
| , - ] | I |
r b Il P || I > | |
| , Ll ] | I o | |
\\\\\\\ ” _m—m —— A\ || | I = | |
\\\\\\\ , ———————————————————————————————————————— e o | (. Q |
| , i || I z | ,
| , ] | I z | ,
, , , || I o | |
A | | e e e e b bt S S S || I o |
\\\\\\\ | —_— || I a | |
| , || I a | |
L | I o | ,
| i 8 L N ,
,
\\\\\\\ B . O |
\\\\\\\ | I i i i e i e R e e i I I ,
| [ I | ,
- % -
e | e ettt I I I
\\\\\\\ | -——- - r !
| [ I ,
| , | |
] L
= |
— ,
N

BT0CIPICT 3AVS

BI0CIT INd

JAJobS\69BFILE & FIELD695B-FF awg



SAVE:12/4/2018

PRINT; 12/4/2018

f
7)
m
w
>
(@)
O
%E
PRECAST CONCRETE PANEL =
8"x4" TUBE =
BELOW X o
F1.5-T10FH 1/8"x8" OUTRIGGER S E
@)
E non e
c —\ 84" TUBE “\ <4.06) / 8'x2" BLADE —\ n.
/ e
- v < - - v e
A A < il ",/ ~ \ v < : . . <
SRR T AN A o P /AN R
A . L I S A L = = F.75-B14HW
o Al ~—
° A I q H . ﬂ . . EC
4 : R B R B o B B e — | (2) FCO-EAS \_ y,
< . .
. ] L §1 \ i \ i \ i \ . / 4 172" EMBED 5
| ' | ' | ' | ' o S eme——————— o
} } ——— A= ——— -~ ———— — + —— —— - — — — b — — 4 - / g
‘ ‘ |1 | ! |1 ' | [ | | [ | < . WELDED CONNECTION \ \ 1/4"x8"x12" ALUM. PLATE
| | | || | | | | | | | | - . e
\ \ =y WELDED TO 8"x4" TUBE
| | | || | | | | | |1 | ! 4. : 8" X 4" COLUMN
! } |1 | ! |1 | ! |1 | ! |1 | ! 1 - W/ NEOPRENE BEARING PAD
,,,,,,,,,,,,,, ; ‘ | I | |1 I | |1 | ! | I | E A - (174" x 8" x 12")
| ‘ | | ) | | ) | | ) | | ! o ~
ey ‘ | ' | ' | ' | ' <
‘ ‘ | ' | [ | o [ | o [ | .
‘ ‘ | ' | ' | ' | ' 4
I ‘ | I | | I | | | | |1 | ! S 4 G.C. TO GRIND CREST FLAT
777777777777 2 1 ‘ | I | I . I . I < . 10" x 1-6" @ TYPICAL
| | | | | | | | | | | |
\ \ COLUMN LOCATIONS
: |1 | ! |1 | ! |1 | | | I |
£L.o-TIOPH + | | ) | | ) | | ) | | ) 4 <
‘ ‘ | ' | ' | ' | ' : ) A4 : A .
,,,,,,,,,,,,,, | ‘ | | | | | | | I A . g
A ‘ |1 I | |1 | ! |1 [ | | | | < g
‘ ‘ | | | | | | |1 | ! |1 | ! . A .
F-75-B14HW: | | | (N | (N | (N | I PRECAST CONCRETE ——————— : - <
L | I | | | | | | ! |1 | ! :
e } | | | | | | | | | | | | < PANEL . )
,,,,,,,,,,,, — | | [ | 0| | 0| | (. A /b z
82" BLADE \‘ ‘ o [ | o ' | ' | [ | 2 2
| ' | ' | ' | ' ,
N I } | | | | | | | | : g
e | R N T O R I
1 SR I R S
4
| 1 | /3N | || u || u | | | | | Y 4
I N VYY) N E N E N E N E ~ /7~ 2\ SUNSCREEN SECTION
| ' | ' | ' | '
,,,,,,,,,,,,,, \ \ 4.06_J SCALE: 1 1/2'=1-0" SUNSCREEN: A
| ' | ' | ' | | ! . : ,
} } |1 || |1 || |1 || |1 || a7 \'/REF-- NONE
¢ | | | | | | | | | | | ! .
‘ ‘ | | | | | | | | | | | | A w
,,,,,,,,,,,,,, ; ‘ |1 I | |1 | ! |1 I | | I | d v
| ‘ | | | | | | | | | | | | S5
Yz 1 1 1 1 5
-
1,8..X8..OUTR|GGER_/} } o [ | o [ | o ' | ' : N O
| 1S IR T 4 ‘ | [ | | ' |1 | ! |1 | ! 2 L L
,,,,,,,,,,,,,, | ‘ | I |1 0o |1 0o | 0o ) 4 @) =
‘ ‘ | | | | | | | | | | | | A 9 < T
| | | | | | | | | | | | | T O
t ‘ | | | | | | | | | | | | o ¥
‘ ‘ |1 | ! | | ) | | ) | | ) b ' <
‘ ‘ | ' | ' | ' | ' )
IBP ‘ ‘ | [ | | ' | [ | o [ | a4 - o)
\‘ ‘ | ' | ' | ' | ' < P o
,,,,,,,,,,, __ 1 ‘ | I | | | | |1 | ! |1 | ! =) S
‘ | | | | | | | | | | | | o -
I | | | | | | | | | | | | o = v
/ ‘ | | | | | | | | A 2 1
******* ———— | | ) | | ) | | ) | | ) , m o
\ \ h
‘ ‘ | ' | ' | ' | ' : 4 4 w S
ACCESS HOLE; CAP | I [ I [ I [ I [ I O s ®)
| ' | ' | ' | ' =
AFTER INSTALLATION FC2.5-1BP5 ] B R B R B R B R ool S z
2) REQD | | | | | | | | | | | | p -
(@ REQ ! } | | | | | | | | | | I | . ' O 4| —| W
‘ ‘ |1 | ! |1 | | | | | | I | ! A |4l | E
‘ ‘ | | ) | | ) | | ) |1 | | Cq sl 6
‘ ‘ | ' | ' | ' | ' A 7l Q O
‘ ‘ 1 \ 1 \ L 1 \ wl el 2| #F
| w| X
>n2L|J e, <
sSETIEDET
iSRwisxz0
ETRTlETR
/~ 1\ SUNSCREEN DETAIL " snons
Q__OySCALEn":f-O" SUNSCREEN: A LT
REF.: NONE
T oy
4.06
6958

JAJobS\69BFILE & FIELD695B-FF awg



SAVE:12/4/2018

PRINT; 12/4/2018

SN

Peachdes

8'-4 3/4"
SUNSCREEN WIDTH

FC2.5-IBP5

(2) REQD F.75-B14HW

m 10" 10" | \ e 10" 10" 10" 10"
ACCESS HOLE; CAP . "
/ AFTER INSTALLATION 4.00 WELDED CONNECTION _\ A(égr?&éé‘r cgkﬁigY
| EL. 795.63'

TOP OF SUNSCREEN

g i
T

PROTECTIVE COVERS

\

owa. sy [(” i

=
©
©

N /
\— g'x4" TUBE

1/8"x8" OUTRIGGER /

ARCHITECT VERIFY
EL. 795.58'

= T
\ \
‘ ‘ (87' 11 1/4" AF.F.)
8"x2" BLADE /
X ‘ ™S~ 8"x4" TUBE

4) FC1.5-NS3

T/O PRECAST PANEL
o 1/4"x8"x12" ALUM. PLATE —1 : g
4'X4" TUBE WELDED WELDED TO 8"x4" TUBE A
BETWEEN 6"X6" TUBES W/ NEOPRENE BEARING PAD A 5
(1/4" x 8" x 12") < 4 |
1/2" 74" , A o 41/4" -
OUTRIGGER LENGTH
(2) FCB-EA5 | / W
41/2" EMBED & A G.C. TO GRIND CREST FLAT z
' 10" x 16" @ TYPICAL
A COLUMN LOCATIONS g
6'x6" TUBE PRECAST CONCRETE PANEL
6"
/1 SUNSCREEN DETAIL
\\4.07 J SCALE: 1 1/2"=1-0"SUNSCREEN: A '
REF.: 2/A7-11 (SIM.) ' <
1-0"
4
A

RULE JOY TRAMMEL RUBIO ARCHITECTURE

LOCATION:

WAVERLY OFFICE BUILDING - PHASE 2

CUSTOMER:

SHELCO, LLC

ARCHITECT:

PROJECT:

CHARLOTTE, NC

DATE

CHKD. BY:

RW

DRAWING NO.

4.07

PPC JOB NO.

6958

JAJobS\69BFILE & FIELD695B-FF awg



SAVE:12/4/2018

FASTENER SCHEDULE

FASTENER IDENTIFICATION

LENGTH OF FASTENER

IDENTFY DRILL POINT TYPE FOR SCREWS
OF TYPE OF BOLT (SEE CHART)

F2-B14HW

FASTENER HEAD TYPE (FOR SCREWS ONLY)(SEE CHART)
DIAMETER OF FASTENER (SEE CHART)

F=FASTENER

FASTENER ACCESORIES IDENTIFICATION

TYPE (SEE CHART)

FA -LW5

DIAMETER OF FASTENER
FA=FASTENER ACCESSORIES

FASTENER COMBO IDENTIFICATION

LENGTH OF FASTENER
TYPE (SEE CHART)

FC2.5-LW5

DIAMETER OF FASTENER

FC=FASTENER COMBO
(MADE UP OF "F" AND "FA")

FASTENER MISC. IDENTIFICATION

LENGTH OF FASTENER
IDENTIFIER - SEE FASTENER SHEETS

FM2.5 -SSSS

FM=FASTENER MISC.

FASTENER DIAMETER CHART F=FASTENER
e 10=#10 e B B POINT
o 12=#12 e BB BUTTON HEAD BOLT
o 14=#14 e CB COUNTER SUNK BOLT
e 2=.250" (1/4") e EBR EYE BOLT RIGHT HAND THREAD
] 3=.375" (3/8") . EBL LEFT HAND THREAD
e 5=.500" (1/2") e HB HEX HEAD BOLT
¢ 6=.625" (5/8") e LB LAG BOLT
e 7=.750" (3/4") e SB SHOULDER BOLT

o T TEK

e TC TAPCON

e TR THREADED ROD

e W WOOD SCREW

FA=FASTENER ACCESSORIES
AN ACORN NUT
BW BONDED WASHER
FW FLAT WASHER
IN JAM NUT
INTERNAL WASHER
LS LAG SHIELD
LW LOCK WASHER
N NUT
NS NUTSERT

FC=FASTENER COMBO
BBP BACK TO BACK IBP
CHU CUSTOM HANGER CANOPY UPPER
CHL CUSTOM HANGER CANOPY LOWER
EAS EPOXY ANCHOR WITH SCREEN
EABP  EPOXY ANCHOR WITH STANDOFF BASEPLATE
EASC  EPOXY ANCHOR WITH SCREEN & COMP. SLEEVE
HCU HANGER CANOPY UPPER BRACKET
IBP INTERNAL BOLT PLATE
NEW MECH JOINT
NS NUTSERT
OMB  OLD MECH. JOINT W/ BUTTON HEAD
OMC  OLD MECH. JOINT W/ COUNTER SUNK
TBP THRU BOLT WITH BACKER PLATE
TBPC  THRU BOLT WITH BACKER PLATE W/COMP. SLEEVE
DT DRILL & TAP THREADED ROD
DTC DRILL & TAP THREADED ROD W/COMP. SLEEVE
WLH  WELDED LOWER HANGER BRACKET

£

®© ©6 06 0 0 0 0 06 06 0 0 0 0 0 0 0 0
=2
S

PRINT; 12/4/2018

F1.5-T10FH — |}

FC1.25-AN2 —

1/4" @ BOLT

TEK SCREW, #10-1 1/2" FLAT HEAD

1/4" FLAT WASHER S.S.
(FA-FW5)

1/4" LOCK WASHER S.S.
(FA-LW5)

1/4" NUT S.S.

(FA-AN5)

1/4" FLAT WASHER S.S.

FC1.5-AN2 ——

(FA-FW5)

1/4" FLAT WASHER S.S.
(FA-FW5)

1/4" LOCK WASHER S.S.
(FA-LW5)

1/4" NUT S.S.

(FA-AN5)

1/4" @ BOLT

1/4" FLAT WASHER S.S.
(FA-FW5)

Fit#-B14HW m

14B S.S FASTENER W/ NEOPRENE WASHER
F.75-B14HW ‘ 3/4" LONG FASTENER

S

Peachles
PROTECTIVE COVERS

\

owa. sy [(” i

SUBJECT

1/2" FLAT WASHER S.S.

(FA-LW5)
1/2" LOCK WASHER S.S.

(FA-LW5)

1/2" NUT S S.
(FA-N5)

DATE

REV.:

FC##-HBW5S ——
3/8"d X 1.5"S.S. BOLT
(F1.5-HB3) 1/2" @ BOLT 1/2" FLAT WASHER S.S.
3/8"% LOCK WASHER S.S. (FA-LWS)
N (FALS) 1/2" @ S.S. BOLT W/ WASHER AND NUT
FC1.5-NS3 []||[][|M[][]I] NAME DESCRIPTION USE
-v FC251BP5 | 2 1/2" LONG BOLT (F2.5-HB5) | IBP TO ADJACENT
W FC3.5BP5 | 3 1/2" LONG BOLT (F3.5-HB5) | IBP TO IBP
3/8" FLAT WASHER
(FA-FW3)
FASTENER ACCESSORIES
F##-HBS — \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ @ FA-N# — @ FA-FW# — FA-LW# —

RULE JOY TRAMMEL RUBIO ARCHITECTURE

WAVERLY OFFICE BUILDING - PHASE 2

1/2" @ S.S. HEX HEAD BOLT #13 THREAD S.S.NUT S.S. FLAT WASHER S.S. LOCK WASHER
F1.5-HB5 11/2" LONG BOLT FA-N3 3/8" NUT FA-FW3 3/8" WASHER | FA-LW3 3/8" WASHER
F2-HB5 2" LONG BOLT FA-N5 1/2" NUT FA-FW5 1/2" WASHER | FA-LW5 1/2" WASHER
F2.5-HB5 2.5" LONG BOLT FA-N6 5/8" NUT FA-FW6 5/8" WASHER | FA-LW6 5/8" WASHER
F3.5-HB5 3.5" LONG BOLT

O
pa
Q| E|
-
- =
31%9| 9
O
— x
P e
ESELE2LRE
sSENEK[EO
S 3 £ 2
3/19/18
DWN. BY:
TD
RW
DRAWING NO.
6.00

PPC JOB NO.

6958

JAJobS\69BFILE & FIELD695B-FF awg




SAVE:12/4/2018

FC - FASTENER COMBINTATION SCHEDULE

N

1/2" NUT S.S.
(FA-N5)

1/2" LOCK WASHER S.S.
(FA-LWS5)

1/2" FLAT WASHER S.S.
(FA-FW5)

THREADED ROD

FC6-EA5 —— @ X
I X

3/8" NUT S.S.

(FA-N3)

3/8" LOCK WASHER S.S.
(FA-LW3)

3/8" FLAT WASHER S.S.
(FA-FW3)

THREADED ROD

Fce-EA3 — [[H ﬁ

1/2" NUT S.S.
(FA-N5)

1/2" LOCK WASHER S.S.
(FA-LW5)

12" THREADED ROD

1/2" FLAT WASHER S.S.
(FA-FW5)

1/2" LOCK WASHER S.S.
(FA-LWS5)

Peachles
PROTECTIVE COVERS

\

owa. sy [(” i

SUBJECT

DATE

REV.:

1/2" NUT S.S.
(FA-N5)

1/2" LOCK WASHER S.S.

(FA-LWS5)
12" THREADED ROD

FC20-TB5 @

1/2" FLAT WASHER S.S.
(FA-FW5)

1/2" LOCK WASHER S.S.

RULE JOY TRAMMEL RUBIO ARCHITECTURE

LOCATION:

WAVERLY OFFICE BUILDING - PHASE 2

CUSTOMER:

SHELCO, LLC
CHARLOTTE, NC

ARCHITECT:

PROJECT:

DATE

(FA-LW5)

PRINT; 12/4/2018

CHKD. BY:

DRAWING NO.

6.01
PPC JOB NO. 6958

JAJobS\69BFILE & FIELD695B-FF awg




	Sheets and Views
	6958-FF-G.1
	6958-FF-1.00
	6958-FF-1.01
	6958-FF-1.02
	6958-FF-1.03
	6958-FF-1.04
	6958-FF-1.05
	6958-FF-1.06
	6958-FF-1.07
	6958-FF-1.08
	6958-FF-2.00
	6958-FF-2.01
	6958-FF-2.02
	6958-FF-2.03
	6958-FF-2.04
	6958-FF-2.05
	6958-FF-3.00
	6958-FF-4.00
	6958-FF-4.01
	6958-FF-4.02
	6958-FF-4.03
	6958-FF-4.04
	6958-FF-4.05
	6958-FF-4.06
	6958-FF-4.07
	6958-FF-6.00
	6958-FF-6.01


